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BHumaHue! O6pasey 3anonHeHuUA:

YacTtb 1. max. 40 6annoB
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YacTtb 3. max. 80 6annoB
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Wtoro 3ayactm 1 - 3:

MpoBsepunu:
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20. max. 5 6annos 21. max. 4 6anna 22. max. 5 6annoB

24. max. 5 6annos 25. max. 5 6annoB 27. max. 2 6anna
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YacTb 5. max. 20 6annoB

1. max. 6 6annos 3anuwunTte oTBeT 3. max. 5 bannos

1.1. [2 6anna] 60 1 2 3 4 5

1.2. [3 6anna] b 20% 5% 5% 70% 750 TbIC.

1.3. [1 6ann] E

2. max. 5 6annos

2.1. Peakumsa | 1(2|3(4]|5|6(7]|8[9]10 4. max. 4 6anna
[1 6ann] | Ne noauuun 1 2 3 4

2.2. [1 6ann] HAO+ 64/81 8/81 8/81 1/81

AToM

2.3.
[2 6anna]

Ne noanumm WTtoro 3a yactu 4-5 (max.119,5):

2.4. [1 6ann] 5

Uroro 3a MpoBsepunu:
4yacTb 5




